SAP ABAP table VV.CACS CHRETY?2 {Generated Table for View}

CACS STCAGR
MANDT [CLNT (3)]
VV CACS CHRETY2-STCAGR ID = CACS STCAGR-STCAGR ID | APPL[CHAR (6)]
- " |AGR_TYP [CHAR (2)]
- STCAGR_ID [CHAR (12)]
-7 VERSION [NUMC (6)]

TOO0O
MANDT [CLNT (3)]

TCACS_AGR
VV_CACS CHRETY2-AGR TYP = TCACS AGR-AGRTYP -~ 0.N |AGRTYP [CHAR (2)]

—_——
—_—

TCACS_APPLDEF
" ‘VV_CACS_CHRETYZ—REMUNERATION = TCACS_REM-REMUNERATION 0..N TappL [CHAR (6)]

T TCACS_REM

" ---____ [MANDTICINT (3)]
. VV_CACS _CHRETY2-STATUS VERSION = TCACS VALSTAT1-STATUS VERSION 0.N oo TeHaR (6)]

-~ REMUNERATION [CHAR (4)]
- VERSION [NUMC (6)]

Tt~ TCACS_VALSTAT1

VV_CACS CHRETY2-STATUS WORK = TCACS VALSTAT1-STATUS WORK \()“N STATUSCLASS [CHAR (1)]

STATUS VERSION [CHAR (1)]

R _ - 0.N [STATUS_WORK [CHAR (1)]

—_— — _——



